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<?xml version="1.0" encoding="UTF-8"?>
<SignedData Version="1.0">

<Data>
<Declaration Version="1.0" Id="46">
<Header>
<Sender>
<Tin>05011518</Tin>
</Sender>
<Type>A</Type>
<Period year="2010" type="monthly" value="02"/>
</Header>
<Body>
<Suppliers>
<Record Index="0">
<Name>Lntuwpp</Name>
<Tin>00000019</Tin>
<N>11/1</N>
<Date>2009-01-01</Date>
<Turn>654.46</Turn>
<VAT>65.45</VAT>
</Record>
<Record Index="1">
<Name>Lntuwpp</Name>
<Tin>00000019</Tin>
<N>12/1</N>
<Date>2009-01-01</Date>
<Turn>654.45</Turn>
<VAT>65.45</VAT>
</Record>
</Suppliers>
<Buyers>
<Record Index="0">
<Name>547</Name>
<Tin>54555555</Tin>
<N>111</N>
<Date>2009-02-05</Date>
</Record>
</Buyers>
<Totals>
<Record>

<TotalSuppliersTurn>54.1</TotalSuppliersTurn>
<TotalSuppliersVat>5.1</TotalSuppliersVat>
<TotalBuyersTurn>35.14</TotalBuyersTurn>
<TotalBuyersVat>40.4</TotalBuyersVat>



</Record>
</Totals>
</Body>
</Declaration>
</Data>
</SignedData>



